/N P i

© 00 ~N O o1 B W N =

—_ e e e e e ek ek b
0 N O O B W N = O

JEFHH 3 HEMERR INEF No. 308
% if A(LF-PE hERRIEHEE (BIE)XBERSR
£ & B mAhh KFRFEIZMNA4ET HA
Z §t # M| SWMxFI2A27H ) SF243/130 FT
EARBEE -60=#E<120cm N=114F& -#JF<60cm N= 664
Ech AR5y -200cm=#fE N= 164 -100=#{%E<200cm N=21& -#F<100cm N= 207
¥ B M E|FENE -hARO0=#E<300cm) A=122m2 -{EAR#E <100cm) A= 6m2
A # A R|SMxENBE24B F% 2 B 05 %
2 KN F & — RS ES i e
T RE i 4% (B k) 2,590,000 | & 1 ] Rl #% (Biik) 1,820,000
% L& 8 (BliR) 1,820,000(% 9 & il 2,002,000
% FL =2 BT #w)2—-127
(ZKHEFFH) 1TAXE=
x F A A & B w & A
RAEEL R 1,820,000
AR 1,820,000
1FH¥E= 1,820,000| <LCIZ&ViRRE
ARt EHEE 1,820,000
AEFEEREL K 1,820,000
“ASHAHT X)) —> 1,820,000
Rt EFHEE 1,820,000 O
KX 1,820,000
FRst=8EE 1,820,000
FR=+EEE 1,820,000
EifETRAER 1,820,000
fREEE 1,820,000
FRSt=EE 1,820,000
KXt aRER 1,820,000
IREEKR A4 1,820,000
ARt A ML EEE 1,820,000
FREHEIERE 1,820,000
EaEEKRAEH 1,820,000

1/1




